Item # 1005 588 583

Model # HOAA72XDB22

USE AND CARE GUIDE

36 IN. PEGBOARD

Questions, problems, missing parts?
Before returning to the store, call
Husky Customer Service
8a.m.-7p.m_ EST, Monday-Friday
9a.m.- 6 p.m., EST, Saturday

1-888-HD-HUSKY

HUSKYTOOLS.COM

Due to continuing improvements,
the actual product may differ slightly
from the product described herein.

THANK YOU
We appreciate the trust and confidence you have placed in HusKy through the purchase of
this pegboard. We strive to continually create quality products designed to enhance your home.
Visit us online to see our full line of products available for your home improvement needs.
Thank you for choosing Husky!



Table of Contents

TableofContents ..................... 2
Safety Information..................... 2
Warranty. . ...................... 2
Specifications. . . ................... 2
Pre-Installation. .. ................... 2

Safety Information

Assembly. .. ................ 3
Coordinating Products. . ... ...... 4
Maintenance. . ................ 4
Careand Cleaning. ............... 4
ServiceParts. ................. 4

To reduce the risk of serious injury, read and
follow the safety instructions below before
assembling and using this product.

O This product is intended for indoor use only.

0 This product is not designed for commercial
nor industrial usage.

CAUTION: Any assembly or maintenance
of the product must be carried out by
adults only.

CAUTION: Arrange for necessary
A manpower when assembling, installing
and moving the product.

CAUTION: DO NOT alter this product in

any manner. For example, do not weld
A external bar locks or attach electrical
equipment. This may cause product

damage or personal injury.

WARNING: Keep the product on level
Asurfaces. The product could become unstable
and it may tip over if stored or moved on an

uneven surface, which may cause personal
injury, death or product damage.

WARNING: This product must be securely
mounted on wall before using.

f WARNING: DO NOT stand on this product.

You may fall which may cause personal injury
or death.

CAUTION: Check all nuts and bolts
periodically for tightness. When required,
tighten them.

CAUTION: DO NOT leave children
unattended near this product.

Warranty

This warranty excludes incidental/inconsequential damages and failures due to misuse, abuse
or normal wear and tear. This full warranty gives you specific rights, and you may also have

other rights, which vary state to state.

Contact the customer service team at 1-888-HD-HUSKY or visit www.huskytools.com.

Specifications

Maximum load for pegboard

50 Ibs. / 22.7 kg

Pre-Installation

TOOLS REQUIRED
q @E'l [D—

Drill
(not included)

Safety Goggles
(not included)

Socket (10 mm)
(not included)

Level
(not included)

Measuring Tape
(not included)




Pre-Installation (continued)‘
HARDWARE INCLUDED

@ NOTE: Bolt not shown to actual size.

Part | Description Quantity
AA M6 x 40 hex tapping bolt 8
Part  Description Quantity
A Pegboard 2
B Plastic cover 16
Assembly ‘
i insert the M6 x ex tapping
m L"ésﬂg ;B?ngebgoblgsa{%m to the wall with four M6 x 40 bolts (AA) into the studs of the

using a power drill. , o
wall. Loading capacity will be reduced
0 Cover the eight holes with plastic covers (B). Make if the pegboard is not secured to studs,
sure the pegboard is securely in place. and drywall anchors (not included) are

suggested to use when the pegboard
o Repeat the same to install the other pegboard (A). caﬁﬁot be installed to studs_p .

3 WWW.HUSKYTOOLS.COM
Please contact 1-888-HD-HUSKY for further assistance.



Coordinating Products

This product coordinates well with the units below to offer a best storage solution.
They can be combined into various combinations to meet different storage requirements.

Maintenance

Husky 36 in. wall shelf  Husky 36 in. pegboard
(not included)

Husky 72 in. workbench

(not included)

O Check all the screws and nuts periodically for tig

Care and Cleaning

htness. Tighten them when necessary.

0 Periodically clean the surfaces with a soft rag and water.

0 Grease and oil can be removed with most standard cleaning fluids.
For safety, use a nonflammable cleaning fluid.

Service Parts

Part |Part Code Description Quantity
B L2065002 Plastic cover 16
C L2065001 Grommet 2
AA L0308H440 M6 x 40 hex tapping bolt 8

4



Questions, problems, missing parts? Before returning to the store,
call Husky Customer Service
8 a.m.-7 p.m., EST, Monday-Friday, 9 a.m. - 6 p.m. EST Saturday
1-888-HD-HUSKY
HUSKYTOOLS.COM

Retain this manual for future use.



Articulo # 1005 588 583

Modelo HOAA72XDB22

MANUAL DEUSO Y CUIDADO

PANEL PERFORADO DE 91.4 CM

¢ Preguntas, problemas, piezas faltantes?

Antes de regresar a la tienda, llama al Servicio al Cliente
de Husky, entre 8:00 a.m.y 7:00 p.m. (hora del Este), de
lunes aviernes, y los sabados entre 9:00 a.m. y 6:00 p.m.
(hora del Este).

1-888-HD-HUSKY

HUSKYTOOLS.COM

© 0000000000000 o0000o0o0
o oo

© 0000000000000 00000o0o0

o 0000000000000 0000000
©c 000000000000 000006060 0
0600000000000 000006000o0
0o 0000000000000 0000000
6000000000000 00000600 0
© 000000000000 000060000
000000000000 0000060000
000000000000 000000000
© 0066000000600 0600600606060 0
0006000000060 060060006000o0
© 0000000000 000000000o0
6060000000000 0000000o0 o0
© 00000000000 00000000 o0
o 0 06 0000 000000000000 00
© 000000000000 000000o0
© 00000000000 000000600 0
© 0000000000000 000000o0
00000000000 000000000o0
00000000000 000000000 o0
©0000000000000000000 0
060000000000 0000000000
00000000000 0000000000
© 000000000000 00000600 o0
©co0ocooooco0o0oceoo0o00o00000o0o0
eo0co0oco0o0oceoco0o0o0co00000o0o0
000000000000 00000000o0
©ooo0cooo0o0o0o0000000000000
oo0o0oco0o0o0o0o00o0000000000o0
0000000000000 000000o0

Debido a mejoras continuas, el producto
real pudiera ser ligeramente diferente al
producto aqui descrito.

GRACIAS
Apreciamos la plena confianza que has depositado en Husky al comprar este panel perforado. Nos esforzamos en crear continuamente
productos de calidad disefiados para mejoras del hogar. Visitanos por Internet para ver nuestra linea completa de productos disponibles
a fin de satisfacer la necesidades de mejoras de tu hogar. jGracias por elegir Husky!



Tabla de contenido

Tabla de contenido............cccoceerierererrercerr e 2 ENSAMDBIGJE..........ccocveeriiieceieerre s sss s e snssnesneens 3
Informacion de seguridad .............cocovrerercrcrcrcncneennrrerereene 2 Productos complementarios ...............coeeeeveeeeereeseeseesseeseesnees 4
GAFANTIA ovveevvvrirrsssrns e 2 MANEENIMIENTO...........ooooeeeeeeeeesssssssssssssssssssssssssssssssssssssssssssens 4
ESDECIfICACIONES....oocovovrrttrtrrsssnns - Cuidado y impieza .........ccccoemmmmereeeeeeesesessssssssssssssssss 4
Preinstalacion ..., 2 Piezas de repUeSt0..........creucerereurermesrerecrreessesessseseaserens 4

Informacién de seguridad |

Con lafinalidad de reducir el riesgo de que se produzcan
lesiones severas, antes de ensamblar y usar este product
leay siga las instrucciones sobre seguridad que se dan a
continuacion.

o Este producto ha sido disefiado para uso estrictamente en

ADVERTENCIA: Mantenga el producto en superficies
niveladas. Si se almacena o desplaza el producto sobre una
superficie desigual, este podria desestabilizarse y prdria
representar un riesgo de lesion personal, muerte o dafio del
producto.

interiores.

o Este producto no ha sido disefiado para uso comercial ni

I ( ADVERTENCIA: Este product debe estar bien sujeto a la
industrial.

pared antes de usarlo.

caerse y provocar dafiod personales e incluso la muerte.
Aﬁ CUIDADO: Organicese para disponer de la mano de obra CUIDADO: Revise periodicamente todos los pernos
. . f Iy : Revi 10di y
necesaria cuando vaya a realizar el ensamblado, instalacion. tuercas y verifique que estén ajustados. Cuando sea

necesario, ajlstelos nuevamente.

Por ejemplo, no suelde barras de cerrojos externas ni acople
equipo eléctrico. Esto podria dafiar el producto o provocar
dafos personales.

CUIDADO: NO DEJE nifios sin supervision cerca de
este producto

CUIDADO: Toda actividad de ensamblaje o mantenimiento
del producto debe realizarla un adulto. A ADVERTENCIA: NO se suba sobre el producto. Podria

: CUIDADO: No modifiques el producto de manera alguna.

Garantia

Esta garantia excluye dafos indirectos y fallas que resulten de mal uso, abuso o desgaste normal del producto. Esta garantia
completale da derechos especificos, pero usted también podria tener otros derechos los cuales varian de un estado al otro.

Contacte al equipo de servicio al cliente marcando 1-888-HD-HUSKY o visite www.huskytools.com.

Especificaciones

|Carga maxima por panel perforado | 50 Ibs. / 22.7 kg |

Preinstalacion |

HERRAMIENTAS NECESARIAS

Gafas de
Taladro seguridad
(noincluido) (noincluidas)

Dado (10 mm) Nivel Cinta de medir
(noincluido) (noincluido) (noincluida)

2



Preinstalacion (continuacién)

ACCESORIOS INCLUIDOS

@ NOTA: Los pernos no se muestran en tamaiio real.

Ensamblaje

Pieza |Descripcion Cantidad
AA Tornillo hexagonal autorroscantes M6 x 40 8
Pieza (Descripcion Cantidad
A Panel perforado 2
B Cubierta de plastico 16

COMO COLGAR EL PANEL PERFORADO

O Instala el panel perforado (A) en la pared con cuatro tornillos
hexagonales autorrorscantes M6 x 40 (AA) usando un talador
eléctrico.

o Cubralos ocho agujeros con las cubiertas de plastico (B).
Aseglrese de que el panel perforado esté bien fijo.

O Repitala misma operacion para instalar el otro panel
perforado (A).

CUIDADO: Se recomienda insertar los tornillos hexagonales
autorroscantes M6 x 40 (AA) en los montantes de la pared. La
capacidad de carga se vera reducida si no se fija el panel
perforado en los montantes. Cuando no se pueda instalar el
panel perforado en los montantes de la pared, se sugiere usar
tacos de anclaje para paneles de yeso (no se incluyen).

WWW.HUSKYTOOLS.COM
Para asistencia adicional, llamar al 1-888-HD-HUSKY.




Productos complementarios

Este producto coordina bien con los médulos a continuacion para ofrecer asi una solucion de almacenamiento optima.
Se puede hacer varias combinaciones de estos productos para cubrir las necesidades de almacenamiento.

Estanteria mural Husky
de91.4cm
(no incluido) Panel perforado Husky
(noincluido)

Banco de trabajo Husky
de1.83m
(no incluido)

-1

Mantenimiento |

Revise periddicamente todos los pernos y tuercas y verifique que estén ajustados. Cuando sea necesario, ajustelos nuevamente.

Cuidado y limpieza

o Limpie con regularidad las superficies usando agua y un pafo suave.

O Las manchas de grasa y aceite pueden eliminarse usando la mayoria de productos de limpieza estandar. Para mayor seguridad, use un
producto de limpieza inflamable.

Piezas de repuesto |

B
C
Pieza [Cddigo de pieza |Descripcion Cantidad
B L2065002 Cubierta de plastico 16
C L2065001 Pasacable 2

Tornillos hexagonales

AA  |L0308H440 autorroscantes M6 x 40

8




¢Preguntas, problemas, piezas faltantes?
Antes de regresar a la tienda, llama al Servicio al Cliente de Husky,
entre 8:00 a.m.y 7:00 p.m. (hora del Este), de lunes a viernes,
y los sabados entre 9:00 a.m. y 6:00 p.m. (hora del Este).

1-888-HD-HUSKY

HUSKYTOOLS.COM

Conserva este manual para uso en el futuro.



